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5. Using the graph
the x-axis, with

elow and the Trapezoidal Rule, estimate th@area bounded by the graph and
x = 0.5 between 0 and 5.
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6. Using the graph below and Simpson’s Rule, estimate the areajunder the graph between 1770
and 2010. Use units of ten-thousands for the y-values and Aff= 10 years.
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7. Numerically integrate each of the following functions using:
a. The Trapezoidal Rule '
b. Simpson’s Rule
¢. Compare your results to the true value from the Fundam@htal Theorem of Calculus (for (i)
only).
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8. Use the Error formulas to calculate the number of partitions feeds to calculate each integral to
within 0.000001 }or:
a. The Trapezoiha[ Rule
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